
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 9692 9092 8992 8892Différence commune:2. 5792 5772Différence commune:3. 9035 9030 9025 9015 9010 9000Différence commune:4. 6884 6784 6184Différence commune:5. 7778 7753 7728 7703 7678 7628Différence commune:6. 9388 8938 8863 8788Différence commune:7. 1990 1965 1915 1865Différence commune:8. 8352 8332 8322 8282Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 9792 9692 9592 9492 9392 9292 9192 9092 8992 8892Différence commune: -1002. 5842 5832 5822 5812 5802 5792 5782 5772 5762 5752Différence commune: -103. 9040 9035 9030 9025 9020 9015 9010 9005 9000 8995Différence commune: -54. 6984 6884 6784 6684 6584 6484 6384 6284 6184 6084Différence commune: -1005. 7803 7778 7753 7728 7703 7678 7653 7628 7603 7578Différence commune: -256. 9388 9313 9238 9163 9088 9013 8938 8863 8788 8713Différence commune: -757. 2065 2040 2015 1990 1965 1940 1915 1890 1865 1840Différence commune: -258. 8362 8352 8342 8332 8322 8312 8302 8292 8282 8272Différence commune: -10Mathslibres.com


